o
NENMEHE
TIVE FaH
DENHE
(€))

(1) 3L =
2T31_
1 =
4) 32 =
3712_
2 =
2) 21 -
6713_
3 =
(5) 22 =
6717_
7=
(3) 11 -
2T31_
=
6) 2 1 -
2T11_
I =

DT
)k
1% r&:
B85
S454
R
1 (ht
tps:/
://c
hugaku jyuke
n-sans
uu. com/
) KL
)
|mHTH
Ly
—kTE
Y



FEOEINVETIVE HAHOBINDEG)

1 1 - 1 — 7 - 19 4 2 2 — 11 - 5§
(1) 3 3 e 4) 3 313 3
— 7 63 — 11 31
21 19 31 5
— 21 — 11
19 5
= 2 — 1
1 19 2 5
o) 1 - 3 — 13 . 7 5 5 . 7 — 17 16
(2) 2 1 P (5) 2 1 i
— 13 42 — 17 93
63 7 6-2 16
— 26 — 51
21 32
— 5 — 19
1 21 1 32
(3) 1 ;T3¢ > g (6) 2 1 g
— 3 84 — 5 84
21 25 21 9
— 12 — 20
25 9
— 2
_2—
9

DT M TEHNSH AR (https://chugakujyuken-sansuu. com/) & YERTHA YL O—KFTEET,



